UNIQUENESS OF SOLUTIONS FOR AN INTEGRAL BOUNDARY VALUE PROBLEM WITH FRACTIONAL *Q*-DIFFERENCES*

Yaqiong Cui¹, Shugui Kang^{1,†} and Huiqin Chen¹

Abstract This paper deals with uniqueness of solutions for integral boundary $\begin{pmatrix} & & \\ &$

 $\begin{array}{l} \text{value problem} \begin{cases} (D_q^{\alpha} u)(t) + f(t, u(t)) = 0, \quad t \in (0, 1), \\ u(0) = D_q u(0) = 0, \quad u(1) = \lambda \int_0^1 u(s) \mathrm{d}_q s, \\ \lambda \in (0, [\alpha]_q), \ D_q^{\alpha} \text{ denotes the } q\text{-fractional differential operator of order } \alpha. \end{array} \\ \end{array}$

 $\lambda \in (0, [\alpha]_q), D_q^{\alpha}$ denotes the q-fractional differential operator of order α . By using the iterative method and one new fixed point theorem, we obtain that there exist a unique nontrivial solution and a unique positive solution.

Keywords Fractional *q*-difference equation, integral boundary value condition, the first eigenvalue, uniqueness of solutions.

MSC(2010) 0175.1, 0175.8.

1. Introduction

Recently, great attention has been devoted to the existence and multiplicity of positive solutions for fractional difference boundary value problems by applying the cone fixed point theory, see [1,3,4,10,11,13]. And we notice that Cabada et al. [3,4] obtained the existence of at least one positive solution with integral boundary value conditions and the authors [10,11] dealt with the existence of positive solutions to fractional *q*-difference equations. At the same time, the existence and uniqueness of solutions also has been studied extensively, see, for example, [2,5,8]. Especially, under the condition that the Lipschitz constant of the nonlinear term is related to the first eigenvalues corresponding to the relevant u_0 -positive operator, Cui [2] obtained the uniqueness of solutions by using the iterative methods.

Inspired by the papers mentioned above, we are interested in studying the uniqueness results for the integral boundary value problem (BVP)

$$\begin{cases} (D_q^{\alpha} u)(t) + f(t, u(t)) = 0, & t \in (0, 1), \\ u(0) = D_q u(0) = 0, & u(1) = \lambda \int_0^1 u(s) \mathrm{d}_q s, \end{cases}$$
(1.1)

where $\alpha \in (2,3]$, $\lambda > 0$, D_q^{α} denotes the q-fractional differential operator of order α . By using the iterative method which resembles [2] and a new fixed point theorem in

 $^{^\}dagger {\rm the~corresponding~author.}$ Email address: dtkangshugui@126.com(S. Kang)

¹School of Mathematics and Computer Science, Shanxi Datong University, Datong 037009, China

^{*}The authors were supported by the National Natural Science Foundation of

China (11271235) and Shanxi Datong University Institute (XJG-2016211).

a normal cone, we obtain that there exist a unique nontrivial solution and a unique positive solution.

2. Preliminary and Green's function

We first present some formulas and definitions on fractional q-derivative and fractional q-integral that will be used in what follows.

Let $q \in (0, 1), \alpha \in \mathbb{R}$ and ${}_tD_q$ denotes the derivative with respect to variable t. Then

$${}_t D_q (t-s)^{(\alpha)} = [\alpha]_q (t-s)^{(\alpha-1)};$$
$$\left({}_t D_q \int_0^t f(t,s) \mathrm{d}_q s\right)(t) = \int_0^t {}_t D_q f(t,s) \mathrm{d}_q s + f(qt,t).$$

The q-integral of a function f defined on [0, b] is defined by

$$(I_q f)(t) = \int_0^t f(s) d_q s = t(1-q) \sum_{k=0}^\infty f(tq^k) q^k, \ t \in [0,b].$$

Definition 2.1 ([7]). Let f be a function defined on [0, 1]. The fractional q-integral of the Riemann-Liouville type is given by

$$(I_q^{\alpha} f)(t) = \frac{1}{\Gamma(\alpha)} \int_0^t (t - qs)^{(\alpha - 1)} f(s) \mathrm{d}_q s, \ \alpha > 0, \ t \in [0, 1].$$

Lemma 2.1 ([7]). Let n be a positive integer. Then

$$(I_q^{\alpha} D_q^n f)(t) = (D_q^n I_q^{\alpha} f)(t) - \sum_{k=0}^{n-1} \frac{t^{\alpha - n + k}}{\Gamma_q(\alpha + k - n + 1)} (D_q^k f)(0), \quad \alpha > 0.$$

Let E be a Banach space and $P \subset E$ be a cone.

Definition 2.2 ([9]). A bounded linear operator $T : E \to E$ is u_0 -positive on cone P if there exists $u_0 \in P \setminus \{\theta\}$ such that for each $u \in P \setminus \{\theta\}$ there exist $n \in \mathbb{N}$ and positive constants $\alpha(u), \beta(u)$ such that

$$\alpha(u)u_0 \leqslant T^n u \leqslant \beta(u)u_0.$$

Recall that φ^* is called a positive eigenfunction of a linear operator T if $\varphi^* \in P \setminus \{\theta\}$ and there exists $\lambda_0 > 0$ such that $\lambda_0 T \varphi^* = \varphi^*$.

Lemma 2.2 ([9]). Let $T : E \to E$ be linear completely continuous and $T(P) \subset P$. If there exist $\psi \in E \setminus (-P)$ and a constant c > 0 such that $cT\psi \ge \psi$, then the spectral radius $r(T) \ne 0$ and T has a positive eigenfunction φ corresponding to its first eigenvalue $\lambda_1 = (r(T))^{-1}$, i.e. $\varphi = \lambda_1 T \varphi$.

The following lemma will be used to prove one of our results.

Lemma 2.3 ([6]). Let $P \subset E$ be a normal cone, $A : P \to P$ be a completely continuous and decreasing operator satisfying the following two conditions:

(i) $A\theta > \theta, A^2\theta \ge \varepsilon_0 A\theta$, where $\varepsilon_0 \in (0, 1)$;

(ii) For each $0 < u \leq A\theta$ and $k \in (0,1)$, there exists a constant $\eta > 0$ such that

$$A(ku) \leqslant [k(1+\eta)]^{-1}Au.$$

Then A has a single fixed point $u^* \in P$.

Lemma 2.4. Let $\alpha \in (2,3]$, $\lambda \neq [\alpha]_q$ and $h \in C[0,1]$. Then the boundary value problem (BVP)

$$\begin{cases} (D_q^{\alpha} u)(t) + h(t) = 0, \quad t \in (0, 1), \\ u(0) = D_q u(0) = 0, \quad u(1) = \lambda \int_0^1 u(s) d_q s, \end{cases}$$
(2.1)

has a unique solution

$$u(t) = \int_0^1 G(t,qs)h(s)d_qs, \ t \in [0,1],$$

where Green's function is represented in the form

$$G(t,qs) = \begin{cases} \frac{t^{\alpha-1}(1-qs)^{(\alpha-1)}([\alpha]_q - \lambda + \lambda sq^{\alpha}) - ([\alpha]_q - \lambda)(t-qs)^{(\alpha-1)}}{([\alpha]_q - \lambda)\Gamma_q(\alpha)}, & 0 \leq qs \leq t \leq 1; \\ \frac{t^{\alpha-1}(1-qs)^{(\alpha-1)}([\alpha]_q - \lambda + \lambda sq^{\alpha})}{([\alpha]_q - \lambda)\Gamma_q(\alpha)}, & 0 \leq t \leq qs \leq 1. \end{cases}$$

Proof. From le2.1, the equation $(D_q^{\alpha}u)(t) = -h(t)$ can be change into

$$u(t) = -\frac{1}{\Gamma_q(\alpha)} \int_0^t (t - qs)^{(\alpha - 1)} h(s) d_q s + c_1 t^{\alpha - 1} + c_2 t^{\alpha - 2} + c_3 t^{\alpha - 3}, \qquad (2.2)$$

where c_1, c_2, c_3 are constants. Condition u(0) = 0 shows that $c_3 = 0$. Compute the *q*-derivative both sides of (2.2),

$$(D_q u)(t) = -\frac{1}{\Gamma_q(\alpha)} \int_0^t [\alpha - 1]_q (t - qs)^{(\alpha - 2)} h(s) d_q s + c_1 [\alpha - 1]_q t^{\alpha - 2} + c_2 [\alpha - 2]_q t^{\alpha - 3}.$$

Condition $D_q u(0) = 0$ implies $c_2 = 0$. Using condition $u(1) = \lambda \int_0^1 u(s) d_q s$, we have from (2.2) that

$$c_1 = \frac{1}{\Gamma_q(\alpha)} \int_0^1 (1 - qs)^{(\alpha - 1)} h(s) \mathrm{d}_q s + \lambda \int_0^1 u(s) \mathrm{d}_q s.$$

Thus, u(t) becomes

$$u(t) = -\frac{1}{\Gamma_q(\alpha)} \int_0^t (t - qs)^{(\alpha - 1)} h(s) d_q s + \frac{t^{\alpha - 1}}{\Gamma_q(\alpha)} \int_0^1 (1 - qs)^{(\alpha - 1)} h(s) d_q s + \lambda t^{\alpha - 1} \int_0^1 u(s) d_q s.$$
(2.3)

Set $C = \int_0^1 u(s) d_q s$. Applying *q*-integral to (2.3) on [0, 1], we get

$$C = -\frac{1}{\Gamma_q(\alpha)} \int_0^1 \mathrm{d}_q t \int_0^t (t - qs)^{(\alpha - 1)} h(s) \mathrm{d}_q s$$
$$+ \frac{1}{\Gamma_q(\alpha)} \int_0^1 t^{\alpha - 1} \mathrm{d}_q t \int_0^1 (1 - qs)^{(\alpha - 1)} h(s) \mathrm{d}_q s + \lambda C \int_0^1 t^{\alpha - 1} \mathrm{d}_q t.$$

Noticing that $\int_0^1 t^{\alpha-1} \mathrm{d}_q t = \frac{1}{[\alpha]_q}$ and

$$\int_0^1 \mathrm{d}_q t \int_0^t (t - qs)^{(\alpha - 1)} h(s) \mathrm{d}_q s = \frac{1}{[\alpha]_q} \int_0^1 (1 - qs)^{(\alpha)} h(s) \mathrm{d}_q s,$$

thus

$$C = -\frac{1}{([\alpha]_q - \lambda)\Gamma_q(\alpha)} \int_0^1 (1 - qs)^{(\alpha)} h(s) \mathrm{d}_q s$$
$$+ \frac{1}{([\alpha]_q - \lambda)\Gamma_q(\alpha)} \int_0^1 (1 - qs)^{(\alpha - 1)} h(s) \mathrm{d}_q s.$$

In view of $(a-b)^{(\alpha)} = (a-bq^{\alpha-1})(a-b)^{(\alpha-1)}$, replacing the value of C in (2.3), we deduce that

$$\begin{split} u(t) &= -\frac{1}{\Gamma_q(\alpha)} \int_0^t (t-qs)^{(\alpha-1)} h(s) \mathrm{d}_q s + \frac{t^{\alpha-1}}{\Gamma_q(\alpha)} \int_0^1 (1-qs)^{(\alpha-1)} h(s) \mathrm{d}_q s \\ &- \frac{\lambda t^{\alpha-1}}{([\alpha]_q - \lambda)\Gamma_q(\alpha)} \int_0^1 (1-qs)^{(\alpha)} h(s) \mathrm{d}_q s \\ &+ \frac{\lambda t^{\alpha-1}}{([\alpha]_q - \lambda)\Gamma_q(\alpha)} \int_0^1 (1-qs)^{(\alpha-1)} h(s) \mathrm{d}_q s \\ &= -\frac{1}{\Gamma_q(\alpha)} \int_0^t (t-qs)^{(\alpha-1)} h(s) \mathrm{d}_q s \\ &+ \frac{t^{\alpha-1}}{([\alpha]_q - \lambda)\Gamma_q(\alpha)} \int_0^1 (1-qs)^{(\alpha-1)} ([\alpha]_q - \lambda + \lambda s q^{\alpha}) h(s) \mathrm{d}_q s \\ &= \int_0^1 G(t,qs) h(s) \mathrm{d}_q s. \end{split}$$

Lemma 2.5. Let $\alpha \in (2,3]$ and $\lambda \in (0, [\alpha]_q)$. The function G given above satisfies

$$\begin{array}{l} (i) \ G(0,qs) = G(t,1) = 0, \ t,s \in [0,1]; \\ (ii) \ G(t,qs) > 0, \ t,s \in (0,1); \\ (iii) \ t^{\alpha-1}(1-qs)^{(\alpha-1)}\lambda sq^{\alpha} \leqslant ([\alpha]_q - \lambda)\Gamma_q(\alpha)G(t,qs) \leqslant [\alpha]_q t^{\alpha-1}(1-qs)^{(\alpha-1)}; \\ (iv) \ G: [0,1] \times [0,1] \to [0,+\infty) \ is \ continuous. \end{array}$$

Proof. Results (i) and (iv) are obvious. Now we prove properties (ii) and (iii). In

the case when $0 < qs \leq t < 1$, the function

$$g_{1}(t,s) = t^{\alpha-1}(1-qs)^{(\alpha-1)}([\alpha]_{q} - \lambda + \lambda sq^{\alpha}) - ([\alpha]_{q} - \lambda)(t-qs)^{(\alpha-1)}$$

$$= t^{\alpha-1}(1-qs)^{(\alpha-1)}([\alpha]_{q} - \lambda + \lambda sq^{\alpha}) - t^{\alpha-1}([\alpha]_{q} - \lambda)(1-\frac{qs}{t})^{(\alpha-1)}$$

$$\geqslant t^{\alpha-1}(1-qs)^{(\alpha-1)}([\alpha]_{q} - \lambda + \lambda sq^{\alpha}) - t^{\alpha-1}([\alpha]_{q} - \lambda)(1-qs)^{(\alpha-1)}$$

$$= \lambda sq^{\alpha}t^{\alpha-1}(1-qs)^{(\alpha-1)} > 0.$$

In the case when $0 < t \leq qs < 1$, notice that $[\alpha] - \lambda > 0$, then the function

$$g_2(t,s) = t^{\alpha-1} (1-qs)^{(\alpha-1)} ([\alpha]_q - \lambda + \lambda sq^{\alpha}) \ge \lambda sq^{\alpha} t^{\alpha-1} (1-qs)^{(\alpha-1)} > 0$$

and

$$g_2(t,s) = t^{\alpha-1}(1-qs)^{(\alpha-1)}([\alpha]_q - \lambda(1-sq^{\alpha})) \leq [\alpha]t^{\alpha-1}(1-qs)^{(\alpha-1)}$$

Furthermore, it is clear that $g_1(t,s) \leq g_2(t,s)$ for all $t,s \in [0,1]$. Thus, we finish the proof.

From now on, we let E = C[0, 1] be endowed with the norm $||u|| = \sup_{t \in [0, 1]} |u(t)|$ and cone $P = \{u \in E : u(t) \ge 0, t \in [0, 1]\}$, it is well known that P is a normal cone.

Define operators $T, A: E \to E$ respectively by

$$Tu(t) = \int_0^1 G(t, qs)u(s)d_qs, \quad t \in [0, 1],$$
(2.4)

$$Au(t) = \int_0^1 G(t, qs) f(s, u(s)) d_q s, \quad t \in [0, 1].$$
(2.5)

Obviously, $T: E \to E(P \to P)$ is linear completely continuous.

Lemma 2.6. T is a u_0 -positive operator with $u_0 = t^{\alpha-1}$.

Proof. For each $u \in P \setminus \{\theta\}$, by (iii) of **le2.5**, we have

$$Tu(t) = \int_0^1 G(t,qs)u(s)\mathrm{d}_q s \leqslant \frac{[\alpha]_q t^{\alpha-1}}{([\alpha]_q - \lambda)\Gamma_q(\alpha)} \int_0^1 (1-qs)^{(\alpha-1)}u(s)\mathrm{d}_q s$$

and

$$Tu(t) = \int_0^1 G(t,qs)u(s)\mathrm{d}_q s \ge \frac{\lambda q^{\alpha} t^{\alpha-1}}{([\alpha]_q - \lambda)\Gamma_q(\alpha)} \int_0^1 s(1-qs)^{(\alpha-1)}u(s)\mathrm{d}_q s.$$

The two inequalities above show that T is a u_0 -positive operator with $u_0 = t^{\alpha-1}$.

Remark 2.1. Taking $\psi(t) = t^{\alpha-1}$, by **le2.6**, one may choose a number

$$c = \frac{([\alpha]_q - \lambda)\Gamma_q(\alpha)}{\lambda q^{\alpha}} \left(\int_0^1 s^{\alpha} (1 - qs)^{(\alpha - 1)} \mathrm{d}_q s \right)^{-1} > 0$$

such that $cT\psi \ge \psi$. According to le2.2, we see that the spectral radius $r(T) \ne 0$ and T has a positive eigenfunction corresponding to its first eigenvalue $\lambda_1 = (r(T))^{-1}$.

Lemma 2.7. Assume φ^* be the positive eigenfunction corresponding to λ_1 , namely, $\lambda_1 T \varphi^* = \varphi^*$. Then T is a φ^* -positive operator.

3. Main results

In this section, based on the iterative method and a fixed point le2.3, we give the existence of a unique nontrivial solution and a unique positive solution to BVP(1.1), respectively.

Theorem 3.1. Suppose that $f \in C([0,1] \times \mathbb{R}, \mathbb{R})$ and $f(t,0) \neq 0$ for all $t \in [0,1]$. If there exists $K \in [0,1)$ such that

$$|f(t,x_1) - f(t,x_2)| \leq K\lambda_1 |x_1 - x_2|, \quad t \in [0,1], \ x_1, x_2 \in \mathbb{R},$$
(3.1)

where λ_1 is the first eigenvalue of T. Then BVP(1.1) has a unique nontrivial solution u^* in E, and for each $u_0 \in E$, the iterative sequence $u_n = Au_{n-1}(n = 1, 2, ...)$ converges to u^* .

Proof. One important fact is that $A : E \to E$ is completely continuous and a nontrivial solution of BVP(1.1) in E is equivalent to a nonzero fixed point of A in E.

First, we prove existence. Following the approach in [1], we need to construct an iterative sequence. For any given $u_0 \in E$, set $u_n = Au_{n-1}(n = 1, 2, \dots,)$. By **le2.6** and **le2.7**, there exists $a(|u_1 - u_0|) > 0$ such that

$$T(|u_1 - u_0|)(t) \leq a\varphi^*(t), \ t \in [0, 1].$$

For any $n \in \mathbb{N}$ and $t \in [0, 1]$, it follows from (2.4), (2.5) and (3.1) that

$$\begin{aligned} |u_{n+1}(t) - u_n(t)| &= \left| \int_0^1 G(t, qs) f(s, u_n(s)) d_q s - \int_0^1 G(t, qs) f(s, u_{n-1}(s)) d_q s \right| \\ &\leq \int_0^1 G(t, qs) |f(s, u_n(s)) - f(s, u_{n-1}(s))| d_q s \\ &\leq K \lambda_1 T(|u_n - u_{n-1}|)(t) \\ &\leq \dots \leq K^n \lambda_1^n T^n(|u_1 - u_0|)(t) \\ &\leq K^n \lambda_1^n T^{n-1}(a\varphi^*(t)) \\ &= K^n a \lambda_1 \varphi^*(t). \end{aligned}$$

So for any given $n, p \in \mathbb{N}$, we have

$$|u_{n+p}(t) - u_n(t)| \leq |u_{n+p}(t) - u_{n+p-1}(t)| + |u_{n+p-1}(t) - u_{n+p-2}(t)| + \dots + |u_{n+1}(t) - u_n(t)| \leq a\lambda_1 (K^{n+p-1} + \dots + K^n)\varphi^*(t) = a\lambda_1 \frac{K^n(1 - K^p)}{1 - K}\varphi^*(t).$$

Since $K \in [0, 1)$, then

$$||u_{n+p} - u_n|| < \frac{a\lambda_1 K^n}{1-K} ||\varphi^*|| \to 0, \quad n \to \infty.$$

According to the completeness of E, there exists $u^* \in E$ such that $\lim_{n\to\infty} u_n = u^*$. Since A is continuous and $u_n = Au_{n-1}$, we get that u^* is a fixed point of A in E. Now we prove uniqueness. If there exists the other point $\overline{u} \in E$ also satisfying $A\overline{u} = \overline{u}$. For each $n \in \mathbb{N}$,

$$\|u^* - \overline{u}\| = \|A^n u^* - A^n \overline{u}\| \leqslant K^n b \lambda_1 \|\varphi^*\|, \tag{3.2}$$

where $b(|u^* - \overline{u}|) > 0$. From (3.2), there is $||u^* - \overline{u}|| \to 0$ as $n \to \infty$. This implies that $u^* = \overline{u}$, namely, A has at most one fixed point in E. The condition $f(t, 0) \neq 0$ for all $t \in [0, 1]$ guarantees that u^* is a nonzero fixed point. Therefore, BVP(1.1) has a unique nontrivial solution in E.

Theorem 3.2. Suppose there exist functions $\alpha, \beta \in C([0,1], (0, +\infty))$ such that

$$f(t,x) = [\alpha(t) + \beta(t)x]^{-1}, \quad t \in [0,1], \ x \in (0,+\infty).$$
(3.3)

Then BVP(1.1) has a unique positive solution.

Proof. According to the premise of f, it is easy to show that $A : P \to P$ is completely continuous and decreasing and the positive solution of BVP(1.1) is equivalent to the fixed point of A in P.

We verify the all conditions of **le2.3**.

(1) Using the positivity of α , it follows from the condition (3.3) and (ii) of **le2.5** that

$$(A\theta)(t) = \int_0^1 G(t, qs) [\alpha(s)]^{-1} \mathrm{d}_q s > 0, \quad t \in (0, 1)$$

and

$$\begin{split} (A^{2}\theta)(t) &= \int_{0}^{1} G(t,qs) [\alpha(s) + \beta(s)(A\theta)(s)]^{-1} \mathbf{d}_{q}s \\ &= \int_{0}^{1} G(t,qs) [\alpha(s)]^{-1} [1 + \beta(s)(A\theta)(s)(\alpha(s))^{-1}]^{-1} \mathbf{d}_{q}s \\ &\geqslant \frac{1}{1+M} A\theta(t), \ t \in [0,1], \end{split}$$

where $M = \|\beta(A\theta)\alpha^{-1}\|$. Let $\varepsilon_0 = \frac{1}{1+M}$, then $\varepsilon_0 \in (0,1)$ and $A^2\theta \ge \varepsilon_0 A\theta$. Hence, the condition (i) holds.

(2) For each $u \in P$ and $k \in (0, 1)$, we have

$$\begin{split} A(ku)(t) &= \int_0^1 G(t,qs) [\alpha(s) + k\beta(s)u(s)]^{-1} \mathrm{d}_q s \\ &= \frac{1}{k} \int_0^1 G(t,qs) [k^{-1}\alpha(s) + \beta(s)u(s)]^{-1} \mathrm{d}_q s. \end{split}$$

Noticing $k^{-1}\alpha(s) + \beta(s)u(s) > \alpha(s) + \beta(s)u(s)$ for all $s \in [0, 1]$. Let

$$1 + \eta = \min_{s \in [0,1]} \frac{k^{-1}\alpha(s) + \beta(s)u(s)}{\alpha(s) + \beta(s)u(s)}.$$

Then $\eta > 0$ and we deduce that

$$\begin{split} A(ku)(t) \leqslant & \frac{1}{k(1+\eta)} \int_0^1 G(t,qs) [\alpha(s) + \beta(s)u(s)]^{-1} \mathrm{d}_q s \\ = & \frac{1}{k(1+\eta)} Au(t), \ t \in [0,1]. \end{split}$$

Hence, the condition (ii) holds. According to le2.3, A only has one fixed point in P, and then BVP(1.1) has a unique positive solution.

Example 3.1. Let $f(t, x) = [1 + t^2 + x]^{-1}$, $(t, x) \in [0, 1] \times [0, +\infty)$. it is obvious that f satisfies all the conditions of **th3.2**. Hence, BVP(1.1) has a unique positive solution.

Acknowledgements

The authors sincerely thank the reviews for their valuable suggestions and the editors for their useful comments that have led to the present improved reversion.

References

- Z. Bai, Eigenvalue intervals for a class of fractional boundary value problem, J. Comput. Math. Appl., 2012, 64(10), 3253–3257.
- [2] Y. Cui, Uniqueness of solution for boundary value problems for fractional differential equations, J. Appl. Math. Lett., 2016, 51, 48–54.
- [3] A. Cabada, Z. Hamdi, Nonlinear fractional differential equations with integral boundary value conditions, J. Appl. Math. Comput., 2014, 228, 251–257.
- [4] A. Cabada, G. Wang, Positive solutions of nonlinear fractional differential equations with integral boundary value conditions, J. Math. Anal. Appl., 2012, 389(1), 403–411.
- [5] C. Goodrich, Existence and uniqueness of solutions to a fractional difference equation with nonlocal conditions, J. Comput. Math. Appl., 2011, 61(2), 191– 202.
- [6] D. Guo, Nonlinear Functional Analysis, second ed., Shandong Sci. & Tec. Press, Shandong, 2001.
- [7] V. Kac, P. Cheung, Quantum Calculus. Springer, new work, 2002.
- [8] S. Kang, Existence and uniqueness of positive periodic solutions for a class of integral equations with mixed monotone nonlinear terms, J. Appl. Math. Lett., 2017, 71, 24–29.
- [9] M. A. Krasnosel'skii, *Positive Solutions of Operator Equations*, P. Noordhoff, Groningen, The Netherlands, 1964.
- [10] X. Li, Z. Han and X. Li, Boundary value problems of fractional q-difference Schringer equations, J. Appl. Math. Lett., 2015, 46, 100–105.
- [11] A. C. Rui, Ferreira, Positive solutions for a class of boundary value problems with fractional q-differences, J. Comput. Math. Appl., 2011, 61(2), 367–373.
- [12] S. Samko, A. Marichev, Ol: Fractional Integral and Derivative: Theory and Applications, Gordon Breach, Yverdon, 1993.
- [13] X. Zhang, L. Liu and Y. Wu, Multiple positive solutions of a singular fractional differential equation with negatively perturbed term, J. Math. Comput. Model., 2012, 55(3–4), 1263–1274.